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Scuola	
  Formazione	
  	
  
Tirocinan5	
  Do7ori	
  Commercialis5	
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  30	
  APRILE	
  2013	
  

	
  
	
  

Il	
  budget	
  generale	
  d’impresa	
  
	
  
	
  
	
  
	
  

FABIO	
  SANTINI	
  
Dipar5mento	
  di	
  Discipline	
  Giuridiche	
  ed	
  Aziendali	
  

Università	
  degli	
  Studi	
  di	
  Perugia	
  
	
  

Sistema	
  di	
  scelte	
  ed	
  azioni	
  che	
  determina	
  dinamicamente	
  il	
  
posizionamento	
  di	
  equilibrio	
  stru7urale	
  e	
  simultaneo	
  
dell’azienda	
  a	
  fronte	
  dei	
  suoi	
  diversi	
  interlocutori	
  e	
  merca5.	
  
	
  
La	
  strategia	
  è	
  dunque	
  un	
  modello	
  (sistema	
  di	
  scelte	
  ed	
  
azioni)	
  ed	
  è	
  un	
  posizionamento	
  (merca5	
  di	
  sbocco	
  ed	
  
interlocutori	
  non	
  commerciali)	
  

	
  

 Fabio Santini, Università di Perugia 

La	
  strategia	
  aziendale	
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Pianificazione:	
  	
  
scelte	
  di	
  cara7ere	
  strategico	
  concernen5	
  le	
  alterna5ve	
  di	
  
azioni	
  su	
  orizzon5	
  temporali	
  di	
  medio-­‐lungo	
  termine.	
  
Vengono	
  fissa5	
  gli	
  obieWvi	
  generali	
  dell’impresa	
  e	
  si	
  
compone	
  la	
  stru7ura	
  di	
  fondo	
  dell’azienda	
  (combinazioni	
  
prodoW/merca5/tecnologie,	
  capacità	
  produWva).	
  
	
  

Programmazione:	
  
definizione	
  degli	
  obieWvi	
  della	
  ges5one	
  opera5va,	
  
considerando	
  le	
  scelte	
  del	
  primo	
  5po	
  come	
  “vincoli”.	
  
Orizzonte	
  temporale	
  di	
  breve	
  periodo.	
  A7enzione	
  rivolta	
  al	
  
coordinato,	
  efficace	
  ed	
  efficiente	
  impiego	
  delle	
  risorse.	
  	
  

	
  
 Fabio Santini, Università di Perugia 

Pianificazione	
  vs	
  Programmazione	
  

 Fabio Santini, Università di Perugia 

Pianificazione	
  vs	
  Programmazione	
  

§  Livello	
  aziendale:	
  strategie	
  di	
  impiego	
  delle	
  risorse	
  
finanziarie	
  in	
  relazione	
  ad	
  obieWvi	
  di	
  medio-­‐lungo	
  
periodo;	
  

§  Livello	
  divisionale:	
  definizione	
  delle	
  modalità	
  
a7raverso	
  le	
  quali	
  perseguire	
  gli	
  obieWvi	
  prefissa5	
  
(ASA	
  o	
  SBU);	
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La	
  direzione	
  d’impresa	
  si	
  a7ua	
  a7raverso	
  tre	
  aWvità	
  
principali:	
  
1.   	
  formulazione	
  delle	
  decisioni	
  (AWvità	
  decisionale);	
  
2.   trasmissione	
  delle	
  direEve	
  e	
  verifica	
  della	
  loro	
  

esecuzione	
  (AWvità	
  di	
  coordinamento);	
  
3.   	
  confronto	
  tra	
  risultaG	
  oHenuG	
  ed	
  aHesi	
  (AWvità	
  di	
  

controllo).	
  

	
  	
  In	
  termini	
  più	
  generali,	
  per	
  “controllo”	
  si	
  può	
  intendere	
  
l’insieme	
  di	
  aWvità	
  poste	
  in	
  essere	
  dai	
  manager	
  per	
  
aumentare	
  la	
  probabilità	
  che	
  gli	
  obieWvi	
  fissa5	
  in	
  fase	
  di	
  
programmazione	
  vengano	
  raggiun5	
  e	
  che	
  tu7e	
  le	
  par5	
  
dell’organizzazione	
  collaborino	
  a	
  tale	
  scopo.	
  

	
    Fabio Santini, Università di Perugia 

La	
  direzione	
  d’impresa	
  

	
  
	
  
Esistono	
  due	
  modi	
  per	
  impostare	
  l’aWvità	
  di	
  direzione:	
  
§ Il	
  primo	
  a7ende	
  il	
  verificarsi	
  degli	
  even5	
  o	
  il	
  sorgere	
  di	
  un	
  
problema	
  prima	
  di	
  avviare	
  il	
  processo	
  decisionale;	
  

§ Il	
  secondo	
  cerca	
  di	
  prevedere	
  gli	
  evenG	
  e	
  di	
  anGciparli.	
  	
  

	
  

 Fabio Santini, Università di Perugia 

La	
  direzione	
  d’impresa	
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 Fabio Santini, Università di Perugia 

UNO	
  SCHEMA	
  DI	
  RIFERIMENTO	
  

MERCATO	
  DEI	
  PRODOTTI	
  

PREVISIONE	
  

PIANIFICAZIONE	
  

PROGRAMMAZIONE	
  

MERCATO	
  DEI	
  MATERIALI	
  

MERCATO	
  DEL	
  LAVORO	
  

MERCATO	
  DEL	
  CREDITO	
  

TECNOLOGIE	
  

SISTEMA	
  SOCIO-­‐CULTURALE	
  

SISTEMA	
  SOCIO-­‐POLITICO	
   SISTEMA	
  ENERGETICO	
  

STRATEGIA	
  

PIANO	
  
	
  INDUSTRIALE	
  

BUDGET	
  

Il	
  budget	
  è	
  un	
  programma	
  di	
  ges5one	
  riferito	
  ad	
  un	
  
periodo	
  annuale	
  esplicitato	
  in	
  termini	
  quan5ta5vi	
  
a7raverso	
  la	
  formulazione	
  di	
  un	
  bilancio	
  preven5vo.	
  
	
  
Il	
  processo	
  di	
  budgeGng	
  inizia	
  con	
  la	
  determinazione	
  
degli	
  obieWvi	
  di	
  ges5one	
  che	
  il	
  management	
  intende	
  
raggiungere	
  in	
  un	
  arco	
  temporale	
  di	
  breve	
  periodo	
  e	
  
giunge	
  fino	
  al	
  confronto	
  tra	
  tali	
  obieWvi	
  ed	
  i	
  risulta5	
  
effeWvamente	
  consegui5.	
  

	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
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§  Risulta5	
  economico-­‐finanziari	
  

§  Risulta5	
  compe55vi	
  

§  Risulta5	
  sociali	
  

	
  

 Fabio Santini, Università di Perugia 

I	
  risulta5	
  aziendali	
  

Cara7eris5che	
  principali:	
  
	
  
1.  è	
  di	
  dire7a	
  derivazione	
  dal	
  piano	
  strategico	
  aziendale	
  

(programma	
  rela5vo	
  al	
  primo	
  anno);	
  
2.  riguarda	
  l’azienda	
  nel	
  suo	
  complesso;	
  
3.  può	
  essere	
  ar5colato	
  per	
  centri	
  di	
  responsabilità;	
  
4.  può	
  venire	
  riferito	
  ad	
  intervalli	
  di	
  tempo	
  infrannuali;	
  
5.  Esprime	
  in	
  termini	
  economico-­‐finanziari	
  gli	
  obieWvi	
  che	
  

l’azienda	
  intende	
  raggiungere.	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
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1.  guidare	
  ed	
  orientare	
  i	
  manager	
  (specificazione	
  di	
  obieWvi	
  
opera5vi	
  a	
  cascata);	
  

2.  coordinare	
  risorse,	
  aree	
  e	
  funzioni	
  aziendali	
  per	
  il	
  
perseguimento	
  degli	
  obieWvi	
  aziendali;	
  

3.  Assegnare	
  risorse	
  alle	
  diverse	
  aree	
  aziendali;	
  
4.  individuare	
  fa7ori	
  ed	
  aree	
  di	
  cri5cità	
  che	
  hanno	
  

ostacolato	
  il	
  raggiungimento	
  degli	
  obieWvi	
  a7raverso	
  
analisi	
  a	
  consun5vo	
  (analisi	
  di	
  scostamento);	
  

5.  mo5vare	
  i	
  responsabili	
  di	
  area	
  ed	
  i	
  dipenden5;	
  
6.  migliorare	
  il	
  grado	
  di	
  conoscenza	
  della	
  realtà	
  e	
  aziendale.	
  

	
  
 Fabio Santini, Università di Perugia 

Le	
  funzioni	
  del	
  budget	
  

 Fabio Santini, Università di Perugia 

La	
  stru7ura	
  del	
  budget	
  (impresa	
  industriale)	
  

BUDGET	
  
AZIENDALE	
  

BUDGET	
  
PATRIMONIALE	
  

BUDGET	
  
ECONOMICO	
  

B.	
  MATERIALI	
  DIRETTI	
  

B.	
  MANODOPERA	
  
	
  DIRETTA	
  

	
  
B.	
  COSTI	
  INDUSTRIALI	
  

	
  

BUDGET	
  FINANZIARIO	
  

BUDGET	
  	
  
INVESTIMENTI	
  

B.	
  COSTI	
  DI	
  
DISTRIBUZIONE	
  

B.	
  COSTI	
  	
  
AMMINISTRATIVI	
  

B.	
  SCORTE	
  MATERIALI	
  	
  
DIRETTI	
  

B.	
  	
  
APPROVVIGIONAMENTI	
  

BUDGET	
  ONERI	
  	
  
FINANZIARI	
  

BUDGET	
  ONERI	
  	
  
E	
  PROV.	
  ATIPICI	
  

BUDGET	
  ONERI	
  	
  
E	
  PROVENTI	
  STRA.	
  

BUDGET	
  REDDITO	
  	
  
OPERATIVO	
  

BUDGET	
  COSTO	
  	
  
DEL	
  VENDUTO	
  

BUDGET	
  REDDITO	
  	
  
NETTO	
  

BUDGET	
  IMPOSTE	
  	
  
SUL	
  REDDITO	
  

BUDGET	
  REDDITO	
  	
  
NETTO	
  ANTE	
  IMPOSTE	
  

B.	
  VENDITE	
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 Fabio Santini, Università di Perugia 

I	
  tempi	
  di	
  elaborazione	
  	
  
(da	
  non	
  intendersi	
  come	
  rigidi)	
  

Periodo	
   Operazioni	
  

se7embre	
   Inizio	
  della	
  redazione	
  del	
  budget	
  sulla	
  base	
  degli	
  
obieWvi	
  generali	
  fissa5	
  dal	
  piano	
  strategico	
  

o7obre	
   Verifica	
  di	
  faWbilità,	
  sia	
  finanziario	
  che	
  commerciale	
  e	
  
tecnico-­‐economica	
  

novembre	
   Revisioni	
  (se	
  necessarie	
  dalla	
  fase	
  precedente),	
  verifica	
  
defini5va,	
  discussione,	
  ul5me	
  modifiche,	
  approvazione	
  

dicembre	
   Redazione	
  defini5va	
  del	
  budget,	
  approvazione	
  finale	
  e	
  
comunicazione	
  agli	
  interessa5	
  

1.  A	
  base	
  zero	
  (ZBB)/	
  incrementale;	
  
2.  Flessibile/rigido;	
  
3.  Fondato	
  sulle	
  aWvità	
  (ABB)/tradizionale;	
  
4.  Top-­‐down/bo7om-­‐up.	
  

	
  

 Fabio Santini, Università di Perugia 

Tipologie	
  di	
  budget	
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 Fabio Santini, Università di Perugia 

Alcune	
  note	
  in	
  merito	
  al	
  	
  
budget	
  degli	
  inves5men5	
  

	
  
La	
  pianificazione	
  degli	
  inves5men5	
  si	
  sviluppa	
  in	
  tre	
  fasi:	
  
1)  Iden5ficazione	
  dei	
  potenziali	
  inves5men5	
  (per	
  5pologie);	
  
2)  Raccolta	
  da5	
  e	
  selezione	
  di	
  quelli	
  da	
  intraprendere	
  in	
  base	
  a	
  

logiche	
  di	
  convenienza	
  economica;	
  
3)  Monitoraggio	
  successivo	
  
	
  
Il	
  budget	
  che	
  ne	
  deriva	
  consente	
  di:	
  
1)  quan5ficare	
  l’impegno	
  finanziario	
  necessario	
  ad	
  adeguare	
  la	
  

stru7ura	
  aziendale	
  ai	
  piani	
  e	
  programmi	
  formula5;	
  
2)  quan5ficare	
  l’effe7o	
  che	
  è	
  lecito	
  a7endersi	
  dall’impiego	
  dei	
  

nuovi	
  inves5men5	
  sulla	
  situazione	
  patrimoniale	
  finanziaria	
  ed	
  
economica	
  degli	
  esercizi	
  futuri.	
  

	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  



30/04/13	
  

9	
  

	
  
Esistono	
  molteplici	
  metodi	
  per	
  la	
  valutazione	
  economico-­‐
finanziaria	
  dei	
  progeW	
  di	
  inves5mento.	
  Tra	
  i	
  più	
  diffusi	
  si	
  
ricordano	
  i	
  seguen5:	
  
	
  
a)  Metodo	
  del	
  rendimento	
  annuo	
  medio	
  contabile;	
  
b)  Metodo	
  del	
  periodo	
  di	
  recupero	
  (Payback	
  period)	
  
c)  Metodo	
  del	
  valore	
  a7uale	
  ne7o	
  (VAN);	
  
d)  Metodo	
  del	
  tasso	
  interno	
  di	
  rendimento	
  (TIR).	
  
	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  

Esempio	
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 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  

a)	
  Metodo	
  del	
  rendimento	
  annuo	
  medio	
  contabile	
  
	
  
Tale	
  metodo	
  appar5ene	
  ai	
  procedimen5	
  che	
  non	
  tengono	
  conto	
  
del	
  “faHore	
  tempo”	
  nella	
  determinazione	
  del	
  valore	
  degli	
  
esborsi	
  e	
  degli	
  incassi	
  di	
  denaro.	
  
	
  
Nella	
  sua	
  semplicità,	
  il	
  metodo	
  permeHe	
  di	
  confrontare	
  la	
  
“reddiGvità”	
  di	
  più	
  progeE	
  tra	
  di	
  loro,	
  come	
  rapporto	
  tra	
  gli	
  
incassi	
  medi	
  di	
  periodo	
  (al	
  ne7o	
  delle	
  quote	
  di	
  ammortamento)	
  
e	
  gli	
  esborsi	
  medi	
  iniziali.	
  	
  
	
  
(Tale	
  metodo	
  consente	
  di	
  a7ribuire	
  una	
  preferenza	
  ai	
  progeW	
  di	
  
inves5mento	
  anche	
  in	
  presenza	
  di	
  iden5ci	
  periodi	
  di	
  recupero)	
  
	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  

a)	
  Metodo	
  del	
  rendimento	
  annuo	
  medio	
  contabile	
  

NB:	
  occorrerebbe	
  tener	
  conto	
  anche	
  della	
  fiscalità	
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 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  

b)	
  Metodo	
  del	
  periodo	
  di	
  recupero	
  
	
  
Il	
  metodo	
  del	
  periodo	
  di	
  recupero	
  (pay	
  back	
  o	
  pay	
  out)	
  è,	
  pur	
  con	
  
mol5	
  limi5,	
  una	
  delle	
  tecniche	
  più	
  usate	
  nella	
  valutazione	
  degli	
  
inves5men5	
  a	
  più	
  alto	
  grado	
  di	
  rischio.	
  	
  
	
  
Con	
  esso	
  si	
  tende	
  a	
  determinare	
  dopo	
  quanto	
  tempo	
  è	
  possibile	
  
recuperare	
  l’esborso	
  iniziale	
  impiegato	
  nel	
  progeHo	
  aHraverso	
  i	
  
flussi	
  neE	
  di	
  cassa	
  generaG.	
  
	
  
	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  

b)	
  Metodo	
  del	
  periodo	
  di	
  recupero	
  



30/04/13	
  

12	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  

b)	
  Metodo	
  del	
  periodo	
  di	
  recupero	
  
	
  
Non	
  perme7e	
  giudizi	
  sulla	
  validità	
  o	
  meno	
  dell’inves5mento	
  
ma	
  determina	
  soltanto	
  i	
  tempi	
  entro	
  i	
  quali	
  il	
  denaro	
  verrà	
  
recuperato,	
  non	
  tenendo	
  in	
  alcun	
  conto	
  la	
  distribuzione	
  
temporale	
  dei	
  flussi	
  di	
  cassa	
  una	
  volta	
  raggiunto	
  il	
  recupero	
  
dell’inves5mento	
  iniziale.	
  
	
  
Consente	
  una	
  valutazione	
  di	
  larga	
  approssimazione	
  e	
  non	
  è	
  
u5lizzabile	
  per	
  la	
  selezione	
  di	
  progeW	
  alterna5vi	
  né	
  nel	
  caso	
  in	
  
cui	
  abbiano	
  una	
  vita	
  s5mata	
  molto	
  diversa,	
  né	
  qualora	
  si	
  
abbiano	
  durate	
  simili	
  ma	
  flussi	
  di	
  cassa	
  per	
  uno	
  crescen5	
  e	
  per	
  
l’altro	
  decrescen5.	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  

c)	
  Metodo	
  del	
  valore	
  aHuale	
  neHo	
  (VAN)	
  
	
  

Il	
  valore	
  a7uale	
  ne7o	
  è	
  il	
  valore	
  ad	
  oggi	
  di	
  un	
  flusso	
  di	
  liquidità	
  
futura	
  calcolato	
  u5lizzando	
  un	
  tasso	
  minimo	
  di	
  rendimento	
  	
  
(required	
  rate	
  of	
  return:	
  RRR)	
  ritenuto	
  acce7abile	
  per	
  
intraprendere	
  l’inves5mento.	
  	
  
	
  
L’RRR	
  è	
  il	
  rendimento	
  che	
  un’azienda	
  si	
  aspe7a	
  di	
  	
  ricevere	
  da	
  un	
  
qualsiasi	
  inves5mento	
  a	
  parità	
  di	
  rischio.	
  Questo	
  tasso	
  è	
  anche	
  
chiamato	
  tasso	
  di	
  sconto	
  o	
  costo	
  opportunità	
  del	
  capitale.	
  
	
  
Per	
  tale	
  ragione,	
  tuW	
  i	
  progeW	
  con	
  un	
  VAN	
  posi5vo	
  sono	
  da	
  
valutare	
  posi5vamente.	
  



30/04/13	
  

13	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  

c)	
  Metodo	
  del	
  valore	
  aHuale	
  neHo	
  (VAN)	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  

d)	
  Metodo	
  del	
  tasso	
  interno	
  di	
  rendimento	
  
	
  
è	
  quel	
  tasso	
  che	
  consente	
  di	
  eguagliare	
  il	
  valore	
  a7uale	
  dei	
  flussi	
  
di	
  cassa	
  posi5vi	
  a7esi	
  ed	
  il	
  valore	
  a7uale	
  dei	
  flussi	
  di	
  cassa	
  
nega5vi	
  derivan5	
  da	
  un	
  proge7o.	
  
	
  
Sostanzialmente	
  è	
  quel	
  tasso	
  di	
  sconto	
  che	
  genera	
  un	
  valore	
  
a7uale	
  ne7o	
  dell’inves5mento	
  (VAN)	
  =	
  0.	
  
	
  
Nell’esempio	
  presentato,	
  i	
  tre	
  progeW	
  presentano	
  un	
  Tir	
  pari	
  
rispeWvamente	
  a	
  0;	
  26,91%;	
  16,15%.	
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 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  

d)	
  Metodo	
  del	
  tasso	
  interno	
  di	
  rendimento	
  
	
  
è	
  quel	
  tasso	
  che	
  consente	
  di	
  eguagliare	
  il	
  valore	
  a7uale	
  dei	
  flussi	
  
di	
  cassa	
  posi5vi	
  a7esi	
  ed	
  il	
  valore	
  a7uale	
  dei	
  flussi	
  di	
  cassa	
  
nega5vi	
  derivan5	
  da	
  un	
  proge7o.	
  
	
  
Sostanzialmente	
  è	
  quel	
  tasso	
  di	
  sconto	
  che	
  genera	
  un	
  valore	
  
a7uale	
  ne7o	
  dell’inves5mento	
  (VAN)	
  =	
  0.	
  
	
  
Nell’esempio	
  presentato,	
  i	
  tre	
  progeW	
  presentano	
  un	
  Tir	
  pari	
  
rispeWvamente	
  a	
  0;	
  26,91%;	
  16,15%.	
  

	
  
	
  	
  	
  	
  	
  	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  inves5men5	
  

Esempio	
  di	
  stru7ura	
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 Fabio Santini, Università di Perugia 

Alcune	
  note	
  in	
  merito	
  ai	
  più	
  significa5vi	
  
sub-­‐sistemi	
  che	
  compongono	
  il	
  	
  

budget	
  economico	
  

Tra	
  i	
  fa7ori	
  considera5	
  nelle	
  previsioni	
  di	
  vendita	
  possono	
  
annoverarsi:	
  
	
  
1)  l’esperienza	
  passata	
  combinata	
  con	
  da5	
  de7aglia5	
  sulle	
  

vendite	
  passate	
  per	
  linea	
  di	
  prodoW,	
  area	
  geografica	
  e	
  5po	
  di	
  
cliente;	
  

2)  	
  s5me	
  effe7uate	
  dalla	
  forza	
  vendita;	
  
3)  condizioni	
  economiche	
  generali;	
  
4)  azioni	
  della	
  concorrenza;	
  
5)  cambiamen5	
  dei	
  prezzi	
  dei	
  prodoW	
  da	
  parte	
  dell’azienda;	
  
6)  cambiamen5	
  nel	
  mix	
  dei	
  prodoW;	
  
7)  ricerche	
  di	
  mercato;	
  
8)  piani	
  pubblicitari	
  e	
  promozionali.	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  delle	
  vendite	
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Esempio	
  di	
  stru7ura	
  
	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  delle	
  vendite	
  

La	
  programmazione	
  della	
  produzione	
  trova	
  fondamento	
  nel	
  
budget	
  delle	
  vendite	
  ma	
  incorpora	
  anche	
  le	
  scelte	
  di	
  
ges5one	
  delle	
  scorte.	
  InfaW,	
  per	
  ciascun	
  periodo	
  
considerato:	
  
	
  
Quan5tà	
  da	
  produrre	
  =	
   	
  Quan5tà	
  di	
  prodoW	
  da	
  vendere	
  

	
   	
   	
   	
   	
   	
   	
  +	
  incremen5	
  di	
  scorte	
  di	
  prodoW	
  
	
   	
   	
   	
   	
   	
   	
  -­‐	
  decremen5	
  di	
  scorte	
  di	
  prodoW	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  della	
  produzione	
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La	
  poli5ca	
  delle	
  scorte	
  assunta	
  dall’azienda	
  è	
  influenzata	
  da	
  
molteplici	
  fa7ori.	
  Tra	
  i	
  più	
  importan5	
  si	
  annoverano	
  i	
  seguen5:	
  
	
  
a)  Deperibilità	
  dei	
  materiali;	
  
b)  Modalità	
  e	
  mezzi	
  di	
  stoccaggio;	
  
c)  Capacità	
  receWva	
  dei	
  magazzini;	
  
d)  Lunghezza	
  dei	
  cicli	
  di	
  produzione;	
  
e)  Cos5	
  finanziari	
  connessi	
  all’immobilizzo	
  delle	
  scorte;	
  
f)  Limitata	
  reperibilità	
  delle	
  materie	
  prime;	
  
g)  Rischi	
  di	
  obsolescenza;	
  
h)  Esigenze	
  della	
  clientela;	
  
i)  Oscillazioni	
  della	
  domanda	
  di	
  mercato.	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  della	
  produzione	
  

Schema	
  esemplifica5vo	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  della	
  produzione	
  

Ipotesi:	
  RF	
  =	
  10%	
  delle	
  vendite	
  di	
  periodo	
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Il	
  budget	
  della	
  produzione	
  fissa	
  implicitamente	
  anche	
  la	
  
quan5tà	
  di	
  risorse	
  che	
  devono	
  venire	
  impiegate	
  nel	
  processo	
  
produWvo	
  in	
  riferimento	
  alle	
  materie	
  prime	
  (budget	
  degli	
  
approvvigionamen5),	
  alla	
  manodopera	
  dire7a	
  (budget	
  della	
  
manodopera	
  dire7a	
  ed	
  alle	
  spese	
  generali	
  tecniche	
  (che	
  
l’azienda	
  sceglie	
  di	
  ripar5re	
  alle	
  unità	
  di	
  prodo7o).	
  
	
  
Per	
  tali	
  fa7ori	
  è	
  generalmente	
  possibile	
  ricorrere	
  a	
  valori	
  
standard	
  di	
  impiego	
  per	
  unità	
  di	
  prodo7o.	
  
Ciò	
  consente	
  di	
  effe7uare	
  delle	
  analisi	
  di	
  efficienza	
  
economica	
  a	
  consun5vo.	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  della	
  produzione	
  

Per	
  determinare	
  la	
  quan5tà	
  di	
  materie	
  che	
  saranno	
  u5lizzate	
  
nell’arco	
  di	
  tempo	
  considerato	
  dal	
  budget,	
  l’azienda	
  deve	
  
avere	
  preven5vamente	
  definito:	
  
	
  
-­‐  Il	
  volume	
  di	
  produzione	
  che	
  intende	
  realizzare;	
  
-­‐  La	
  quan5tà	
  di	
  materie	
  necessarie	
  per	
  la	
  realizzazione	
  di	
  
ciascun	
  prodo7o	
  (quan5tà	
  d’uso	
  in	
  ipotesi	
  di	
  rendimen5	
  
standard);	
  

-­‐  La	
  poli5ca	
  di	
  approvvigionamento	
  e	
  la	
  misura	
  dello	
  stock	
  di	
  
sicurezza.	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  approvvigionamen5	
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 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  approvvigionamen5	
  

Ipotesi:	
  	
  
a)	
  RF	
  =	
  10%	
  della	
  quan5tà	
  immessa	
  in	
  lavorazione;	
  
b)	
  non	
  è	
  prevista	
  l’applicazione	
  di	
  una	
  tecnica	
  di	
  minimizzazione	
  del	
  costo	
  
complessivo	
  di	
  approvvigionamento;	
  
c)	
  Quan5tà	
  d’uso	
  della	
  materia	
  =	
  3	
  
d)	
  Costo	
  “standard”	
  pari	
  ad	
  €	
  1,65	
  per	
  ciascuna	
  unità	
  di	
  materia.	
  

 Fabio Santini, Università di Perugia 

	
  	
  	
  	
  Quan5tà	
  di	
  scorte	
  da	
  acquisire	
  ogni	
  volta	
  che	
  si	
  va	
  sul	
  
mercato	
  in	
  modo	
  da	
  minimizzare	
  il	
  costo	
  annuo	
  
totale	
  degli	
  approvvigionamen5.	
  	
  

Il	
  loHo	
  economico	
  di	
  acquisto	
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 Fabio Santini, Università di Perugia 

Costo	
  annuo	
  di	
  acquisto	
  delle	
  scorte:	
  
	
  	
  Cap	
  =	
  k	
  x	
  =	
  k	
  b/y	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  
Costo	
  annuo	
  di	
  immobilizzo	
  e	
  di	
  mantenimento	
  delle	
  scorte:	
  

	
  Cis	
  =	
  t	
  c	
  y/2	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  
Costo	
  totale	
  dell’approvvigionamento:	
  

	
  Cta	
  =	
  Cap	
  +	
  Cis	
  =	
  k	
  b/y	
  +	
  t	
  c	
  y/2	
  

y	
  =	
  lo7o	
  economico	
  
b	
  =	
  quan5tà	
  annua	
  
x	
  =	
  numero	
  delle	
  ordinazioni	
  annue	
  

c	
  =	
  costo	
  unitario	
  di	
  acquisto	
  
k	
  =	
  costo	
  di	
  approvvigionamento	
  per	
  ogni	
  ordine	
  
t	
  =	
  costo	
  di	
  immobilizzo	
  delle	
  scorte	
  

Il	
  loHo	
  economico	
  di	
  acquisto	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  degli	
  approvvigionamen5	
  

Ipotesi	
  applicazione	
  loHo	
  economico:	
  	
  
K=	
  10.650	
  euro;	
  t=0,05;	
  c=1,65	
  
Quan5tà	
  d’uso	
  della	
  materia	
  =	
  3	
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La	
  formulazione	
  del	
  budget	
  in	
  ogge7o	
  avviene	
  seguendo	
  le	
  
seguen5	
  fasi:	
  
	
  
1)  Determinazione	
  delle	
  ore	
  tot.	
  di	
  MOD	
  (tempo	
  standard	
  

per	
  prodo7o	
  x	
  quan5tà	
  da	
  produrre);	
  
2)  Determinazione	
  dell’organico	
  necessario	
  alla	
  

realizzazione	
  dei	
  volumi	
  di	
  produzione	
  programma5	
  (ore	
  
tot.	
  MOD/Ore	
  presenza	
  media	
  pro-­‐capite)	
  

3)  Valutazione	
  del	
  personale	
  da	
  assumere	
  o	
  in	
  esubero;	
  
4)  Definizione	
  di	
  una	
  tariffa	
  oraria	
  della	
  manodopera	
  (costo	
  

lordo	
  del	
  lavoro/Ore	
  presenza	
  media	
  pro-­‐capite).	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  della	
  manodopera	
  dire7a	
  

 Fabio Santini, Università di Perugia 

Il	
  budget	
  della	
  manodopera	
  dire7a	
  



30/04/13	
  

22	
  

43	
  

	
  	
  

	
  

 Fabio Santini, Università di Perugia 

Le	
  analisi	
  di	
  scostamento	
  tra	
  da5	
  
preven5vi	
  e	
  consun5vi	
  

44	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  La	
  fissazione	
  di	
  valori	
  “standard”	
  di	
  consumo	
  (prezzi	
  o	
  
quan5tà)	
  può	
  concernere:	
  

1.   Valori	
  ideali,	
  raggiungibili	
  nelle	
  circostanze	
  migliori.	
  Non	
  
contemplano	
  disfunzioni	
  né	
  interruzioni	
  e	
  si	
  fondano	
  su	
  
una	
  occupazione	
  della	
  forza	
  lavoro	
  al	
  100%;	
  

2.   Valori	
  praGci,	
  considera5	
  “rigidi	
  ma	
  raggiungibili”.	
  
Prevedono	
  normali	
  disfunzioni	
  o	
  interruzioni	
  e	
  sono	
  
raggiungibili	
  mediante	
  sforzi	
  “ragionevoli”.	
  

Gli	
  	
  standard	
  

 Fabio Santini, Università di Perugia 
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  Lo	
  scostamento	
  (tra	
  valori	
  standard	
  e	
  valori	
  consun5vi)	
  
in	
  esame	
  può	
  dipendere:	
  

1.  da	
  una	
  varianza	
  di	
  prezzo	
  
2.  da	
  una	
  varianza	
  di	
  quan5tà	
  
3.  da	
  entrambe.	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  Si	
  supponga	
  di	
  aver	
  previsto	
  l’acquisto	
  di	
  6000	
  unità	
  di	
  
materiale	
  (quan5tà	
  standard	
  data	
  da	
  2000	
  unità	
  x	
  3,0	
  
Kg.	
  l’unità)	
  al	
  prezzo	
  standard	
  di	
  €	
  4	
  (totale	
  €	
  24.000)	
  

La	
  varianza	
  dei	
  materiali	
  direW	
  

 Fabio Santini, Università di Perugia 

46	
  

	
  	
  	
  	
  	
  	
  	
  	
  La	
  varianza	
  di	
  quan5tà	
  è	
  data	
  dalla	
  differenza	
  tra:	
  
§  Quan5tà	
  effeWva	
  (6.500	
  per	
  ipotesi)	
  per	
  il	
  prezzo	
  

standard	
  (totale	
  €	
  26.000);	
  
§  Quan5tà	
  standard	
  al	
  prezzo	
  standard	
  (€	
  24.000)	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Pari	
  ad	
  €	
  2000	
  (Sfavorevole)	
  

	
  	
  	
  	
  	
  	
  	
  	
  

La	
  varianza	
  dei	
  materiali	
  direW	
  

 Fabio Santini, Università di Perugia 
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  La	
  varianza	
  di	
  prezzo	
  è	
  data	
  dalla	
  differenza	
  tra:	
  
§  Quan5tà	
  effeWva	
  (6.500)	
  per	
  il	
  prezzo	
  effeWvo	
  

(supponiamo	
  €	
  3,80)	
  (totale	
  €	
  24.700);	
  
§  Quan5tà	
  effeWva	
  al	
  prezzo	
  standard	
  (€	
  26.000)	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Pari	
  ad	
  €	
  1.300	
  (Favorevole)	
  

	
  	
  	
  	
  	
  	
  	
  	
  

La	
  varianza	
  dei	
  materiali	
  direW	
  

 Fabio Santini, Università di Perugia 

48	
  

La	
  varianza	
  dei	
  materiali	
  direW	
  

 Fabio Santini, Università di Perugia 
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  Lo	
  scostamento	
  (tra	
  valori	
  standard	
  e	
  valori	
  consun5vi)	
  
può	
  dipendere:	
  

1.  da	
  una	
  varianza	
  di	
  tariffa	
  	
  
2.  da	
  una	
  varianza	
  di	
  efficienza	
  
3.  da	
  entrambe.	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  Si	
  supponga	
  di	
  aver	
  previsto	
  5000	
  ore	
  lavora5ve	
  
(quan5tà	
  standard	
  data	
  da	
  2000	
  unità	
  x	
  2,5	
  ore	
  per	
  
unità)	
  alla	
  tariffa	
  standard	
  di	
  €	
  14	
  (totale	
  €	
  70.000)	
  

La	
  varianza	
  della	
  manodopera	
  dire7a	
  

 Fabio Santini, Università di Perugia 

50	
  

La	
  varianza	
  di	
  efficienza	
  è	
  data	
  dalla	
  differenza	
  tra:	
  
§  Ore	
  effeWve	
  (5.400	
  per	
  ipotesi)	
  per	
  la	
  tariffa	
  standard	
  

(totale	
  €	
  75.600);	
  
§  Ore	
  standard	
  per	
  la	
  tariffa	
  standard	
  (€	
  70.000)	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Pari	
  ad	
  €	
  5.600	
  (Sfavorevole)	
  

	
  	
  	
  	
  	
  	
  	
  	
  

La	
  varianza	
  della	
  manodopera	
  dire7a	
  

 Fabio Santini, Università di Perugia 
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La	
  varianza	
  di	
  tariffa	
  è	
  data	
  dalla	
  differenza	
  tra:	
  
§  Ore	
  effeWve	
  (5.400)	
  per	
  la	
  tariffa	
  effeWva	
  (supponiamo	
  

€	
  13,75)	
  (totale	
  €	
  74.250);	
  
§  Ore	
  effeWve	
  per	
  la	
  tariffa	
  standard	
  (€	
  75.600)	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Pari	
  ad	
  €	
  1.350	
  (Favorevole)	
  

	
  	
  	
  	
  	
  	
  	
  	
  

La	
  varianza	
  della	
  manodopera	
  dire7a	
  

 Fabio Santini, Università di Perugia 

52	
  

La	
  varianza	
  della	
  manodopera	
  dire7a	
  

 Fabio Santini, Università di Perugia 
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  Lo	
  scostamento	
  (tra	
  valori	
  standard	
  e	
  valori	
  consun5vi)	
  
può	
  dipendere:	
  

1.  da	
  una	
  varianza	
  di	
  volume	
  
2.  da	
  una	
  varianza	
  di	
  spesa	
  
3.  da	
  entrambe.	
  

	
  	
  	
  	
  	
  	
  	
  	
  	
  Si	
  supponga	
  di	
  aver	
  previsto	
  5000	
  ore	
  lavora5ve	
  (2000	
  
unità	
  x	
  2,5	
  ore	
  per	
  unità).	
  Data	
  la	
  previsione	
  di	
  cos5	
  
generali	
  per	
  €	
  10.000	
  +	
  €	
  1,2	
  per	
  ogni	
  ora	
  lavorata	
  ,	
  la	
  
tariffa	
  standard	
  viene	
  apprezzata	
  in	
  €	
  3,2.	
  

La	
  varianza	
  delle	
  spese	
  generali	
  tecniche	
  

 Fabio Santini, Università di Perugia 

54	
  

La	
  varianza	
  di	
  volume	
  è	
  data	
  dalla	
  differenza	
  tra:	
  
§  Ore	
  effeWve	
  (5.400	
  per	
  ipotesi)	
  per	
  la	
  tariffa	
  standard	
  

(totale	
  €	
  17.280);	
  
§  Cos5	
  presun5	
  in	
  corrispondenza	
  del	
  volume	
  effeWvo	
  (€	
  

10.000	
  +	
  1,2	
  x	
  5.400	
  =	
  16.480)	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Pari	
  ad	
  €	
  800	
  (Favorevole)	
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La	
  varianza	
  di	
  spesa	
  è	
  data	
  dalla	
  differenza	
  tra:	
  
§  Cos5	
  presun5	
  in	
  corrispondenza	
  del	
  volume	
  effeWvo	
  	
  

(totale	
  €	
  16.480);	
  
§  Cos5	
  effeWvi	
  (€	
  18.200)	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Pari	
  ad	
  €	
  1.720	
  (Sfavorevole)	
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AspeW	
  organizza5vi	
  del	
  processo	
  di	
  
costruzione	
  ed	
  u5lizzo	
  del	
  budget	
  

 Fabio Santini, Università di Perugia 

58	
  

	
  	
  
	
  
•  La	
  responsabilizzazione	
  che	
  deriva	
  dal	
  controllo	
  dei	
  

risulta5	
  rende	
  note	
  ai	
  dipenden5	
  quali	
  sono	
  le	
  aree	
  di	
  
performance	
  veramente	
  importan5	
  e	
  li	
  mo5va	
  a	
  
perseguire	
  i	
  risulta5	
  che	
  l’organizzazione	
  ha	
  deciso	
  di	
  
premiare.	
  

•  Il	
  controllo	
  dei	
  risulta5	
  indica	
  ai	
  dipenden5	
  ciò	
  che	
  ci	
  si	
  
aspe7a	
  da	
  loro	
  e	
  cos5tuisce	
  un	
  oWmo	
  meccanismo	
  di	
  
controllo	
  “preven5vo”.	
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  Fasi	
  di	
  implementazione	
  del	
  controllo	
  dei	
  risultaG:	
  
	
  
1.   Definizione	
  delle	
  dimensioni	
  di	
  risultato	
  (tendenza	
  a	
  

curare	
  gli	
  ambi5	
  di	
  valutazione:	
  pericolo	
  di	
  errori	
  	
  	
  
	
  	
  	
  	
  nella	
  proge7azione);	
  
	
  
2.	
  Individuazione	
  degli	
  indicatori	
  di	
  performance	
  (di	
  	
  	
  
	
  	
  	
  	
  natura	
  finanziaria	
  o	
  non	
  finanziaria,	
  semplici	
  o	
  ad	
  	
  
	
  	
  	
  	
  albero);	
  
	
  

Il	
  budget	
  come	
  strumento	
  di	
  persuasione	
  

 Fabio Santini, Università di Perugia 

60	
  

Fasi	
  di	
  implementazione	
  del	
  controllo	
  dei	
  risultaG:	
  
	
  

3.	
  Individuazione	
  degli	
  obieEvi	
  di	
  performance	
  	
  	
  	
  	
  
	
  	
  	
  	
  individuale	
  (traguardi	
  esplici5	
  da	
  raggiungere);	
  
	
  
4.	
  Previsione	
  di	
  premi	
  o	
  punizioni	
  (aumen5	
  di	
  	
  	
  	
  
	
  	
  	
  	
  s5pendio,	
  bonus,	
  benefit,	
  promozioni,	
  partecipazione	
  

a	
  even5	
  di	
  formazione,	
  autonomia	
  ecc.	
  o,	
  al	
  
contrario,	
  richiami,	
  riduzioni	
  di	
  livello,	
  mancate	
  
ricompense,	
  perdita	
  del	
  posto	
  di	
  lavoro).	
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  Il	
  controllo	
  dei	
  risultaG	
  è	
  efficace	
  se:	
  
	
  
•  I	
  manager	
  sanno	
  quali	
  risulta5	
  sono	
  desidera5	
  nelle	
  

aree	
  so7o	
  il	
  loro	
  dominio	
  	
  

•  Un	
  risultato	
  è	
  desiderato	
  quando,	
  a	
  parità	
  di	
  altre	
  
condizioni,	
  un	
  maggior	
  livello	
  dell’indicatore	
  è	
  preferito	
  
ad	
  un	
  livello	
  inferiore	
  e	
  le	
  azioni	
  ritenute	
  dall’azienda	
  
“oWmali”	
  o	
  “corre7e”	
  conducono	
  a	
  esi5	
  migliori	
  
rispe7o	
  alle	
  azioni	
  meno	
  auspicate;	
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  Il	
  controllo	
  dei	
  risultaG	
  è	
  efficace	
  se:	
  
	
  
•  I	
  risulta5	
  desidera5	
  possono	
  essere	
  influenza5	
  dagli	
  

individui	
  di	
  cui	
  si	
  controllano	
  le	
  azioni	
  (principio	
  di	
  
controllabilità);	
  

	
  
•  I	
  risulta5	
  possono	
  essere	
  misura5	
  corre7amente	
  dai	
  

ver5ci	
  aziendali.	
  Se	
  una	
  misura	
  provoca	
  i	
  comportamen5	
  
a7esi	
  in	
  una	
  data	
  situazione,	
  si	
  è	
  di	
  fronte	
  ad	
  un	
  valido	
  
strumento	
  di	
  controllo;	
  altrimen5,	
  indipendentemente	
  
dalla	
  quan5ficazione,	
  non	
  è	
  interessante	
  secondo	
  i	
  fini	
  
prefissa5.	
  	
  

Il	
  budget	
  come	
  strumento	
  di	
  persuasione	
  

 Fabio Santini, Università di Perugia 



30/04/13	
  

32	
  

63	
  

	
  	
  	
  
	
  
	
  
Il	
  controllo	
  dei	
  risultaG	
  è	
  efficace	
  se	
  le	
  misure	
  possiedono	
  i	
  
seguenG	
  requisiG:	
  
	
  
Precisione:	
  si	
  riferisce	
  alla	
  quan5tà	
  di	
  casualità	
  presente	
  

nell’indicatore.	
  Se	
  la	
  precisione	
  è	
  elevata,	
  la	
  differenza	
  tra	
  
i	
  valori	
  assegna5	
  da	
  molteplici	
  valutatori	
  indipenden5	
  è	
  
minima;	
  

	
  
OggeEvità:	
  assenza	
  di	
  distorsioni	
  dovute	
  all’esercizio	
  della	
  

soggeWvità	
  individuale;	
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  Il	
  controllo	
  dei	
  risultaG	
  è	
  efficace	
  se	
  le	
  misure	
  possiedono	
  i	
  
seguenG	
  requisiG:	
  
	
  
TempesGvità:	
  si	
  riferisce	
  al	
  periodo	
  di	
  tempo	
  che	
  intercorre	
  

tra	
  le	
  prestazioni	
  dell’individuo	
  e	
  la	
  misurazione	
  dei	
  
risulta5	
  (e	
  la	
  concessione	
  dei	
  premi).	
  La	
  rapidità	
  influisce	
  
sulla	
  mo5vazione	
  e	
  sulla	
  possibilità	
  di	
  correzione.	
  

	
  
Comprensibilità.	
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